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PHYSICS (Theory)
g 3 HUe | | guifes : 70
Time : 3 hours | | Max. Marks : 70
frder . () 39 99 T F | 30 v ¥ wh wem afard ¥
(it) W HEAT | ¥ 8 TE UAD Yo7 | & BT € | 9e9 &A1 9 A 18 dF Yals 59 2 afasf
BT 8, U1 FEM 19 ¥ 27 OB YAD YT 3 P BT & TAT U AT 28 ¥ 30 A
TAF YT 5 el &1 |
(iii) T G | A 4 T agfadecda v ¥ | 3 gde 9T @ IR H ar fesy 2
T & 9l ey s SR gRaer § foifag |
(iv) 999 U3 # §Y R $IE Reew 981 & wenfd 2 siet arer 1 we i 3 3 il a1d &
e # SR 5 o gt Wl v F areale Awew we fhan war & 09 ueA 6
DAl U (Jwey o7 B Iev AR |
(v) BAGAY & IUANT Bl AR TET B |
(vi) T8l smaeaes B anu fFfofaa Wfe e 3 5et &1 SuanT o) e
c=3x10"ms '+ h=6.6x10%)s 1 e=1.6x109C ; p,=41x 107 Ima-!
qrees ™A [FRaid k- 1,381 x 1008 Kt 5 3MaNTR] |E&am N, = 6.02 # {02 mol -
1
47g,,

9 10°NmC-? . R @ FEfd m = 1.67 < 1077kg © m, =91 % 10Tk

Note: (i) There are in all 30 questions in this question paper. Alf questions are compulsory.
(i) Question No. | to 8 carry one mark each. Question no. 9 to 18 carry two marks each, question
no. 1910 27 camry three marks each and question no. 28 1o 30 carry five marks cach.
(i) Question No. 1 to 4 are multiple choice questions. Here four options arc given in each question.
Write the correct option in your answr book.

(iv) There is no overall choice in question paper. however, an infernal choice has been provided in
two questions of 2 marks. three questions of 3 marks and all questions of 5 marks each. You
have to attempt only ore of the given choices in such questions.

(v} Use of calceulator 1s not permitted.

(vi} You may use the following values of physical constants wherever necessary
c=3x10ms™" ¢ h=66<10"]s : e=1.6<10"C : p, =41 x 107 TmA"!
Boltzmann’s constr. k= 1.381 < 1072 JK™! ;' Avogadro Number N, = 6.02 % 10** mol"!

1
dreg

9 1PN mC = ¢ Massof Neutron m =1.67 x 107 kg : m_ =9.1 x 10~ kg

[ 1] | P.T.O.

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeo@ N Mmm//:diy

http://www.ukboardonline.com

I ggd e @l draa) & AT E § — |
‘The unit of intensity of electric ticld is —
,r el .‘T L ~ - e - . b =
(Y A/ Med (i) g2/ TATH (i) el /g2 (iv) | /g

new IO metie newton/coulomb Joule/newton coulombnewton

2. U&TEE YFRBIT & 3 WA ands W AT 9Tl 9d B dEd & — !
[he force on o moving charge in a uniform magnetic field is called -
() divm aq (i) EYYU qe (i) T gol (iv) Wearqad del

Lorenu/ fvree Frictional force Viscous force Restoring foree

3 g A9 W-TE—TE T (G, ) 91 R 5E (i) § e g |
Fie relation i root-mean-square value (i ) and peak value (i) of alternating current is -
A . E;_ ..... L - -y
(n l::n- TN~ 1-.I () ltms e} () lrrn.\'_ \5 (v) lrm_\' =1y

4 WS A w2 W PO 4D gl 2D B GYT AR 9 wiew g BT - |
Power of two lenses in contact are 41> and - -2DD. Focal length of lens-combination will be -
(1) 25¢m (i) +25cm (111) =30 cm {iv) 4530 cm

S @ Son0A s qiddl fagd ey adn, de ety wWagn @ R dm T & 7 )
An clectromagnetic wave having wavelength 3000 A will lic in which region of clectromagnetic
spectrum

6 g i UHTA Jed WA T | 1
Crive the Finstein’s photoeleetric equation.

71 am gaE el 9 AR S Sl Jaa g 2 |
How many enargy will be released in joule duc to mass defect of 1 gram ?

. p-0-p G n-p-n 'g“?‘fiiﬂai’ P wdie fus a9rgv | I
Diraw the svimbal of p-n-p and n-p-n transistors,

b, N2 Rl 9T T ® TP DI W 100 pC B AU HAT R B ) a1 D D G¥ TROm
T fawa wma aifro | 2
On cach corner of a square of side J2 m. charges of 100 pC is kept. Find the resultant clectric
potential at the centre of square.
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0. TP wAmR-%ie wenlRa an anfar & wiwe frfia @i | 2
Deduce the expression for capacitance of a parallel-plate capacitor.

1. 54 aree @ fou srgse 9 aen @ g @ dra dee s B 2
Establish relation between drift velocity and electric current for a conductor.

12, 96N &3 XN 91 € 7 g9 31 9 farfav 2
What are magnetic field lines? Write their two properties.

13 W-IR0 {5 @ed € ? fEE avseh @ w-IRew@ @1 A wwe i 2
What s self-induction ? Clarity the meaning of self-inductance of a coil.

AA4T (OR)
LCR-20ft aRaer & fere gityamn &1 sdwie fofey | oz wien fe gem 3 =pw =5 & 2
Write an expression for the impedence of a LCR-series circuit. In which condition this impedence is
minimum 2 http://www.ukboardonline.com

14, U JTardl TRIGAFR FeRe argd dieca @l 2200 diee W 220 diee ol & Rdras
FUSedl F 00 B ¢ | mfie gueelt § B @) S w1 Sif | 2
A step down transtormer converts 2200 volt transmission line voltage to 220 volts. Number of tums
in sccondary coil are 500. Evaluate the number of wurns in primary coil.

15.  vaa—fervr @ 1Y v Td &1 SUART 9argd | 2
Write two properties and two uses of X-rays.

16. U o  31d BT Ul T2 oflet T B U D AU KU HHIE 1.56 T 1.53 & |
afe el I @ forg o &1 B g 20 I & O At 9 & fIw o A B 8 W
ST | 2
The refractive index of the material of lens are 1.56 and 1.53 for yellow and red colours of light
respectively. If the focal length of lens for yellow colour is 20 em then calculate the focal length of
lens for red colour.

AACGT (OR)
e gfte S o R—gfte W 7 € ? e are 9% fear omar & 2
What are short-sightedness and long-sightedness ? Give their remedy.
429 (1AY) [3] (P.T.O.
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dr e e B o WY W T AWMIR @ 7 g Rl gered ) ad ary 60 ud
&1 we [hEa /Y GIIT Tdhy U Wb Hism @1 116 Y8 ST ? >
What s meant by half-life of a radioactive material ? Half-life of a radioactive material is 60 year.
Afler how much time it becomes 1716 of'its ininal value

TNE A4 HERUr R AN A FERoT 3 IR gengy |
Diterentiate between shy wave propagation and space wave propagation,

]

AT TeTaRT {1 A SIATA B 7 TN T FT YR it s ferfRay | 3
What is meant by eleetric flus 7 Write the statement and mathematical form of Gauss's theorem.

R gRIdrg U 3T SIG @l WESK € 7 [dgd gRerd wRen gRedl bas & from

e | 3

What do voumaean by electromagnetic induction * Write Faraday’s laws of ¢leciromagnetic induction.
SIA4T (OR)

Var 30 die, 100 dlee @ oG BI 200 ae, S0 380 @ fIeq@ W @ Wrem 8 3 s

R 1 aravas wenfiE @ arfRar s iR |

ALnnn ol 20 wait. 100 volt is to be connected with 200 volt. 30 Tz electric mains. Find capacitance of

camaeitor is o be conpected in series with lamp.

dlda ann Fgfaa e # w1 aR £ 7 aoe-gidd weTer I B @1 T e fafdai

YT U | 2
li

Y
Wizl ts the difierence between polarised and unpolwrised light 7 Name any two methods 1o produce

plane-pokirised hahe,

Dbl & e o uRarte ahfde | o e Beareh afyewer 89 @ e wat @n
A anfore | fere 3
Deime the interference of light. Mention the conditons tor constructive and destructive interference.

S—dlaell qdr qr @ R R wEe g 7 S-dindl qadad @ fdu o enfud
i 3
What i~ de-Broglie wave or matter wave ? Find an expression for de-Broghe wavelength.

4T (OR)
et ol W g sfmmm 2 ufd gy o eidwes 204 ey 8 ar difsrm @ e
SHERT @1 The IR |
What s meant by threshold frequency 7 Hwork function of caesium is 2,14 ¢V then lind the vhreshold

frequency for caesitm.
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M. FIERIGH @ Soauid Waed 3 iffe aftrl @ am el awr 3= @ g PreRa
Efsr[ \HQ | 3
Write the name of different serieses of emission spectrum of Hydrogen and represent them by the
formulae.

25, pn ¥ TR A1 ST el & w0 § SR yomett & uRuer INT FeY FEwEd | 3
Fixplain the working of p-n junction diode as half-wave rectifier with circuit diagram.

26.  NOT, OR @01 AND @ifoT® el & a@& i@ (difvie [07g) 99137 a1 9=a! aegar gl
(o1 Taen) difome | 3
Draw the logic symbol of NOT, OR and AND gates, and write their truth table,

27, HUR FARAT & W AGFG] BT AP FNG gAY aen fAfe= smgmal & st e A
F&RI BIFT | 3
Draw block diagram of basic elements of a communication system and write bricfly the functions of
diftcrent clements.

JHA4T (OR)
HTgE A 8 & ? 10kliz 3MGRT T27 10 V RRaR gieear & d3er Rvwrar &1 uanT =i
I MHz gy @211 20 Vv RRER aieear @ ass v & wrgferd e 3 fbar mar 2| wrgerd
Hawid qAT I UeE d§ T HIfg |
What is modulation ? A message signal of frequency 10 kl1z and peak voliage of 10 volts is used to
modulite a carrier of frequency 1 MHz and peak voltage of 20 volts, Determine modulationindex and the
side bands produced.

28, faega uRuer & forg e & fal 3 e 5T 9o 39 MR R @ewe™ Ay o
dglara orazerr ¥ gfoRen @& wwra o1 wliey g SRy | 5
Explain Kirchhofl's laws for clectrical circuit and on its basis, find the condition for resistances of
balanced wheatstone bridge.

312047 (OR)
fverdl @1 g gaTsv | 39e) GEEal 8 B8 ¥ 31 r<iRe gioRy I & o
yfshar @ TRuer NG THY FHSIET |
State principle of polentiometer. On its basis, describe the process for obtaining the internal resistance
of a cell with circuit diagram.

129 (1AY) | 5] [P.T.O.
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E W gEad 83 4 Rud e e W a9y B AF S B | 2
Find torquc on a Bar Magnet situated in uniform magnetic field.

grade & WAV ATSd @ R T SgR, Tagmard Ud i grasr garlf
# 3R W BT | 3

On the basis of atomic model of magnetism, differentiate among the paramagnetic, diamagnetic and
ferromagnetic substances.

JAAT (OR)
qra-dae &I fram @ g ? 2

What is Biot-Savart’s law 7

2] WHIR URIETE Ardd) & a0 arel 9o @ AR W UE R & okt
P | 3

Define ‘one amperc’ on the basis of force acting between two parallel current carrying
conductors.

30. g gewed @ WA qer SRRy S Afts A 9 TH! AT SHaT H 2D
w1 #ifae wiefe afaq ufafdme-
(i) 3= O¥ 91 2 |
(i) wee g oY =gaaH € R ST B | 5

Explain construction and working of compound microscope with diagram and find expression for its

magnifying power when final image is formed -

() at infinty.

(ii) at least distance of distinct vision.

(@)

429 (1AY)

3[edT (OR)

71 B 2R v § R @ @i A g8 028 mm B T ORET 1.4 m B QY G @M
T B Derg a9 oF wqel O W & f9 A @ 1.2cm A0 A | wEm
# IUAnT fbu MY gbrer B aveed wid B 3
Ina Young’s double-slit experiment, the slits are separated by 0.28 mm and the screen is placed
].4 maway. The distance between the central bright fringe and the fourth bright fringe is measured to
be 1.2 cm. Determine the wavelength of light used in the experiment.

U AR ¥ 6000 A FETE BT Wb A1 ¥el & | ey qradi & e & e @ gell
afe wad ANgIaF F1 A 240 em B? 2

Light of wavelengh 6000 A is coming from a star. What is the limit of resolution of a telescope whosc
objective has a diameter of 240 cm.

*dokk ko
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